December 2 Math 2306 sec. 51 Fall 2024

Review of Everything

Solve the initial value problem Y 3y =tIn(t), y(1)=2.
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Find the general solution.

x2y" — 4xy' + 4y = 18x

(Hint: y; = x solves the homogeneous equation.)
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Find the function f that satisfies the equation
t
f(t)_/o F(r)(t = 7) dr + 1.
S
({: *«?\({) - S (<) %(é—‘z\) Je

5€ qug\(t))—. Y(sy Gs)

18 gle) - b-e e gle=t

N
LAt~ ==
Lddong o R {0 +) S

L Lrwd: LU Gxa) + X



Foy - Fo ()« &

|solede s
F ) (\ -

Fesy (TR
Ty -

s A

L

(s-3G ) Tos

\
S

LY -

+

¢

3
S+

=

2 s
s X__ E
s —\ s -\

D 5= Alsa\\ « BG-1)
sa\ L= an A"'\-L
A
sl V=23 ¥T T






A

BANEAR -
3 oA ~Solve the initial value problem

xy' +y.=xy* y(1) =1.
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